EARAROBEEIERT — 2 N— IBISH —F

2017558218 (B) ABMAE2H

(N C2—144 C2 #5%R4mL

‘ [R1%] & ‘ [RERBE] — | & (&) 13000 B

[A~&E£] 17 :200,000 W ~ 23&:46,000  ~ 33 :18,000 W ~ 43%&:10,000 W ~ 5 3 :6,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
~ — . [iim}2) :26. -1-1- . — REM (&8)
17l 7 ¥z hxRL it 6 a5 1(2_6)5 1-1-1-1 | 39.0 1 (4;6) EZ%% 3
R:TTEEX BvFhIALILFD =¥ Tr—L
S, /o0 = o ITaE :26. ~6-5- . = AB®Y (58)
1 s DRz SRR Tise | T B TG |EE
L:O—YX1244 B:Nv/O-X<1)— FAx HE
: = it 6 S 1:27.1 2-2-2-2 [39.5| — 3 449 | IUEEA (EH)
3/glg| A PAXNY=F> 54.0 (2 1/2) o |FHEEE
L:ZXJrT bt —Tr—K=F B:NvE-F-+v> pla N7 4
AP 6 | VAT 1:27.2 3-4-4-4 | 39.3| — 5 454 | BBTE (1£H)
4178 XoL2h 54.0 (3/4) (-4) BAIER
L:Z LR Y E—y B:TY—N—=FK IN=tie]
o 7 | BEER—S 1:27.3 7-7-7-6 | 38.6 | — 6 478 | WHTEA (£R)
EH 3 77/ XAEH 54.0 (1/2) (+5) FHREEAE
RG24 Y E— BiR—F fidzbe]
seap H il :27. -3-3- . - wFEE (EE)
61810 L1 TN —hk as 4 54.0 172{:;1 335 1396 ’ (4_2(; =M -
R:HT/RIA4T B:LARLRN=h (/) HEa-KL—Ya> AET7
N . AIMES : -9-9- - INTFEX (E8)
AR A S A WETA it 4 an 1.(238).0 9-9-9-8 | 39.0 8 (4_539) ffﬂ?k% ®
R:T—7T74—Z BIFRY—L EH AR
N FIAFIR : -8-10- — Z/EEAN (BB
8 NEEEEF T it 4 e 1.(218).2 8-8-10-9 | 39.2 2 <4+138) E‘%ﬁ
R:d—IbRAaqO— B:T—-IKTTy T B
S 5w # 4 | BREA 1:28.4 5-5-6-7 | 40.1| — 10 | s61 |dtAdicts (£8)
9/5|5 ho/oaxy 56.0 A 1/4) (+p) | 1A
R:TSv 84K B:ax/ForT g% Et8
— . . waLLFn 199, -10-8— X = REM (£8)
1wkl 2| 777>T4bKT " XE0 1%9 10100 412 ‘ (::2) i
R:G52TH— B:3I57057 Sl #ER
® 1—F—@EBIERL
1T=7r= 7,9,8,10,5,6,3,4,1,2
20—F— 7,9,10,8,5,6,3,4,1,2
Ja=5= 7,9,10,8,6,5,3,2,1,4
40—F— 7,9,6,8,10,3,5,1,4,2
[ N5
B 7 1004 714K 6-7 310 e E 6-7 1,180 JEE 6-7-9 930F
B B 7 1004 7-9 140H B = 6-7 920M EE 7-6-9 3,150/
6 240M 6-9 1,050M B H 7-6 970M
9 1309

ABICOVWTRDTEEERROODE. TR LIV,




